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数学  3 （主に複素関数論）  

問 I，II，III のすべてに答えよ。以下では  𝑧 を複素数，𝑖 を虚数単位，𝑒 を自然対数の底とし， |𝑧| は  𝑧 の絶対値を表す。  

I. 複素関数                    に関する以下の問いに答えよ。ただ

し，𝑚 は， |𝑚| = 1 かつ  𝑚 ≠ 1 である複素数とする。  

1. 𝑀ሺ𝑧ሻ = 𝑧 となるような  𝑀ሺ𝑧ሻ の不動点をすべて求めよ。  

2. 𝑧 = 0 での  𝑀ሺ𝑧ሻ の微分値を  𝑚 を使って表せ。  

3. 複素  𝑧 平面上の円       が  𝑀ሺ𝑧ሻ  によって実軸に写さ

れるような  𝑚 を求めよ。  

II. 複素関数  𝐽ሺ𝑧ሻ = 𝑒ି௜ఈ𝑧 + 𝑒௜ఈ𝑧ିଵ  の値の虚部が正となるような  𝑧  の
条件を求め，複素  𝑧  平面上に図示せよ。ただし，𝛼  は実数であり    0 < 𝛼 < 𝜋 2⁄  とする。  

 

  

  

次のページに続く。  

𝑀ሺ𝑧ሻ = 𝑚𝑧𝑚𝑧 − 𝑧 + 1 

ฬ𝑧 − 1 − 𝑖2 ฬ = 1√2 
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III. 定積分            を計算するために，複素関数  

についての線積分を複素平面上で考える。ただし，𝛽 

は実数であり  0 < 𝛽 < 1 とする。半円弧と直線を組み合わせた閉じた

積分路  𝐶 = 𝐶ଵ + 𝐶ோ + 𝐶ଶ + 𝐶௥ ሺ0 < 𝑟 < 1 < 𝑅ሻ を図 3.1 のように定義する。

以下の問いに答えよ。  
 

1. 留数定理を用いて線積分     を計算せよ。  

2.           を定積分          を用いて表せ。 

3.             を求めよ。  

4.             を求めよ。  

5. 以上の結果を用いて，定積分  𝐼 を計算せよ。  

 

 
図 3.1 

න 𝑥ఉሺ𝑥ଶ + 1ሻଶோ
௥  d𝑥 

𝐼 = න 𝑥ఉሺ𝑥ଶ + 1ሻଶஶ
଴ d𝑥 𝑓ሺ𝑧ሻ = 𝑧ఉሺ𝑧ଶ + 1ሻଶ 

න 𝑓ሺ𝑧ሻd𝑧஼భ + න 𝑓ሺ𝑧ሻd𝑧஼మ  

ර 𝑓ሺ𝑧ሻd𝑧஼  

limோ→ஶන 𝑓ሺ𝑧ሻd𝑧஼ೃ  

lim௥→଴න 𝑓ሺ𝑧ሻd𝑧஼ೝ  
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Mathematics 3 (Primarily from the field of Complex Function Theory) 

Answer all Questions I, II and III. In the following, 𝑧 denotes a complex number, 𝑖 
the imaginary unit, 𝑒 the base of the natural logarithm, and |𝑧| the absolute value of 𝑧. 

I. Answer the following questions on the complex function                  . 

Here, 𝑚 is a complex number such that |𝑚| = 1 and 𝑚 ≠ 1. 

1. Find all fixed points of 𝑀ሺ𝑧ሻ which satisfy 𝑀ሺ𝑧ሻ = 𝑧. 

2. Express the derivative of 𝑀ሺ𝑧ሻ at 𝑧 = 0 by using 𝑚. 

3. Find 𝑚  for which the circle                on the complex 𝑧  plane is 

mapped onto the real axis through 𝑀ሺ𝑧ሻ. 
 

II. Deduce the conditions for 𝑧 and, on the complex 𝑧 plane, draw the area of 𝑧 in 
which the imaginary part of the complex function 𝐽ሺ𝑧ሻ = 𝑒ି௜ఈ𝑧 + 𝑒௜ఈ𝑧ିଵ is positive. 
Here, 𝛼 is a real number and 0 < 𝛼 < 𝜋 2⁄ . 

 

  

Continued on the next page. 

𝑀ሺ𝑧ሻ = 𝑚𝑧𝑚𝑧 − 𝑧 + 1 

ฬ𝑧 − 1 − 𝑖2 ฬ = 1√2 
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III.   To calculate the definite integral                   , consider the line integral 

of the complex function                on the complex plane.  Here, 𝛽 is a real 

number and 0 < 𝛽 < 1 . The closed integration path 𝐶 = 𝐶ଵ + 𝐶ோ + 𝐶ଶ + 𝐶௥   (0 < 𝑟 < 1 < 𝑅) is defined with semicircles and line segments as shown in Figure 

3.1. Answer the following questions. 

1. Using the residue theorem, calculate the line integral  

2. Express                      with the definite integral  

3. Obtain  

4. Obtain 

5. Using the previous results, calculate the definite integral 𝐼 . 
 

 
Figure 3.1 

 

න 𝑥ఉ(𝑥ଶ + 1)ଶோ
௥  d𝑥 . 

𝐼 = න 𝑥ఉ(𝑥ଶ + 1)ଶஶ
଴ d𝑥 𝑓(𝑧) = 𝑧ఉ(𝑧ଶ + 1)ଶ 

ර 𝑓(𝑧)d𝑧஼  . න 𝑓(𝑧)d𝑧஼భ + න 𝑓(𝑧)d𝑧஼మ  

lim௥→଴න 𝑓(𝑧)d𝑧஼ೝ  . limோ→ஶන 𝑓(𝑧)d𝑧஼ೃ  . 
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